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Name

This is a closed book exam — you are allowed 2 page of notes (each page front+back).

Student number

Check to make sure your test booklet has all of its pages — both when you receive it and when you

turn it in.

Remember — there are several questions, with varying levels of difficulty, be careful not to spend too

much time on any one question to the exclusion of all others.

Exam grading: When grading, we focusing on evaluating your level of understanding, based on what
you have written out for each problem. For that reason, you should make your work clear, and
provide any necessary explanation. In many cases, a correct numerical answer with no explanation
will not receive full credit, and a clearly explained solution with an incorrect numerical answer will
receive close to full credit.

If an answer to a question depends on a result from a previous section that you are unsure of, be sure
to write out as much of the solution as you can using symbols before plugging in any numbers, that

way at you will still receive the majority of credit for the problem, even if your previous answer was
numerically incorrect.

Please be neat — we cannot grade what we cannot decipher.

Topic Max Points Your points
Problem 1 | Smith Chart 10
Problem 2 | Impedance Matching 30
Problem 3 | Vector calculus and phasor 30
Problem 4 | Parallel plate transmission line 18
Problem 5 | Plane wave 12
Total 100
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1. Smiith chart basics (10 points)

Consider the generic transmission line problem as shown below. Assume that the transmission line is a
coaxial transmission line of filled with a material £=9&, u=u,.

I, Z,
S o o
V. v, 2,100 0 \LVL Z,
v
< >

14
(a) (5 points) For each of the following loads, mark their position on the Smith chart below (using
the letter as a label), and write below the reflection coefficient (magnitude and phase angle).

A Z=25Q r= Ol Liso" =- O ¢

B: 7, = 40-/200 Q. - (085 /4 5)°

(b) (5 points) What is the input impedance of the transmission line Z;,(-/) for each of the loads if
[=1.25 m and =10 MHz? Label each point on the Smith Chart using A’, B’

A1 Z=25Q N ze= 57 HTT D

N7 2n=0%r) 87
B: 7, =40-200Q. B Z,= 67@ j%E?_,\

Fh&%& \A’/l@((b M\p '\ja i:;; — /@F M;ﬂ/}
/\;'f = /0m /Q = Ve = OS5
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Smith chart for problem 1
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2. Transmission line — Impedance Matching (30 points)
This problem involves a transmission line which is lossless coaxial cable filled with a dielectric material
e=4&, u=uo. The frequency of operation is /=10 GHz.

For these problems, you may use any methods you wish, including the Smith chart (not required).

i(t) R,=50

@ ) v, 7250 0

U‘? C/ = .54(/(7?”0/ % e
B h B0 6

/G/Q

—>

0

(a) ( points) At the frequency given above (]LIO GHz), whars the load 1mpedance 1 (Zy) and load
impedance 2 (Zy,)? ‘.P—;, /0 é/} Lo = 201

B ———— B

S L=l 2aH wl= 750 )\\ZL, = +}75/Q_

(b) ( points) What is the input impedance Z;, looking into the junction of the two lines?

-t 4 g

A Z;n,g * ZM,L | @i@L Y \/m * fnu
—
See Smbh Chark Zy= |~ 023z, - 015
\/@’@qu@é Y»—Uz-»«j@%
e fy- f\'z" \{ém'L; 0.9 0.3 \/(m 1,22 h 0.7
\/ /'”lf/m’ \ (,) %7

Zﬂ;@; 6511 ﬁ_‘) C??DZ-
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ity R=50Q
VA0

~ ) v(t) TV" 2,750 Q
\4

(¢) ( points) Consider the using a shorted stub as shown to prevent any reflections back on the
feedline and into the generator. What values of d and / should be chosen to achieve matching to
the line? Give these values in term of both wavelengths,-and-mmeters:

choose A weh et Vo (1)\) -

~—

Solbbor b | d= 0767

2

\

Vol = 1= @

hoose L sch bty (f)- 5OF
0. %57 )

Solhon . Z A= m
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The Complete Smith Chart
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3. Vector Calculus and phasors (30 points)
(a) Write the following phasor quantities in the time domain. (Do not include the expression Re{}

in your answer). Assume £y, Hy, and 4 are real quantities.

E(z)=%Eg" E@zn=? EO (et (cﬁvm%) )l(\
(\(ng) M/vej@’%(w(‘»ng)}
| ii. H(z)=yH,e" H(z,)=? ,H@ é;;/} CW'}’)Q?Q} A
Ho RG é J e (heewt) ¥ em (kz'wa | y
iii. F= 3401+ )) F(t)=? 3/’3\\5\ (5 (w++¢>

l\@é;’Ar(TJ, 5 wWhete gﬁ: 4e° 6~ F/g@)\
= % é M2 e m’g’“}) =

(b) Consider the current continuity equation: VeJ = —%’{;— . Apply this equation to a volume V" with a

i

surface defined by differential elements dS, and rewrite this equation in integral form. Give a

physical explanation.
’ %
Ap@’y @ yohee \/ W’M’ C"‘)-f? §""}er€ O{ S

) §1:f\5 C&i\/@ﬁ«’ et #\ €O oy

% jvw/ §-20 av

479 =4 Gow

T - -0 (
> “-LCM = S M’%&' CQ@%I%A
e

T}‘QHZ ﬂéf(.vmﬂf JM‘E O[\/uo!’; C?tﬂl O[\c« Ob(\
SoTaee 12 E’i/‘,/a[ AJ fhe Fine vake C*oL C}’lcw’}}&

OJ fj ﬁm(é’ﬁz\ Chcij )
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(c) Consider the case of fields, charges, and currents that vary harmonically with angular frequency

. Rewrite Maxwell’s equat1ons in hasor form using the phasors: p,J,E,H,B,D.
~ » ﬁ[@w " »—i
V. D=0 \V4 ;@ = O
~ A — — fos
UxE-wB  Vil= T4pD

ma Medum thel s Obn L 41

(d) Prove that for harmonically varying fields, charges, and currents that: p=0.
Shet with e Comal Contivdy Gquabon h phasor Ao,
s . A
V“j'“ N p ~— g
‘SU\D@‘J’,MT é>hmb9 [/M’ j: o \5:-
o V“ E: = U wp
SuVstible  Guuss Y | V E = P/{:/

OLOP\@« \Oow mem 'ﬂ«g\
@“

Wi,

,.\JCJP

om(f Wiy H’l 4 (47@#(/{\
Can \Q@ Jf/‘ue (% i’ p = O
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4. Parallel plate transmission line (18 points)

Consider a parallel plate transmission line with dimensions width w=1mm, height ¢=0.1 mm, and metal
thickness /=0.01 mm. It is made of copper with .= 5.9x10” S/m and u. = yo. The plates are separated by
air (i.e. € = €o, 4 = py, and o = 0).

Cross section

w
< >

d4

}

Side view

¢
(a) (6 points) What is the resistance per unit length R’ for this transmission line at /=10 kHz? Give a
number.

C«@‘\L«,M){J/ 5’(4% é\(élghq (}{r /O }sz g;% O‘ 66 mm whith W‘l;’t/i/)/@/}@f’“
‘\/ﬁam e b ‘H} rck Ness +=0 Olym. This we asevnt conent

L Jows  Un kaxé»w; l{y Hﬂ,@&sﬁh mekil e e fon |

( E&hr ok '}“’VO VQDF,;,
"/VV/(J CC'*’V,L”@; A,)C)

(b) (6 points) What is the resistance per unit length R’ for this transmission line at /=10 GHz? Give a
number.

M 0 A On- O.6bum <<+ e wued
Vﬁ/&%é @7)7 at ﬁ’t’f?ﬁ((’/ﬁ (Q‘Mer) ol (@wduc ?Laf“ s
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(c) (6 points) At which frequency (10 kHz or 10 GHz) is it a better approximation to consider this a
“lossless” transmission line? Explain why.

N hcoles T s 2o red
CM(X o Pm@%czbdﬂ Covibopt @ = el
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5. Plane waves (12 points)

(a) (6 points) Consider a linearly polarized plane wave in free space with an electric field phasor

givenby: E(z)=(%+7¥) \E/OE e ™. Write the corresponding H-field phasor.
- NN

E H Q JD"VV? G é’\gff‘ h@iﬁ(l&i '}Y‘W{L J:Z'\ A ‘0/&;}1 WAV

”;)- 2

<
- ndiziks v Weve Omﬂj‘ﬁ roon 12 dirtebg, }zzké

B

(b) (6 points) Consider a circularly polarized plane wave in free space with an electric field phasor

. = SV I
given by: E(z):(x—-i/y)\/5

+ Jkz

. Write the corresponding H-field phasor.

@, ) @m«f’aw e v =2 (ilm}u’)

e
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VoD = IO,/'
V><E:——a—E D=¢gE+P
Maxwell’s Equations: Jt Auxillary Fields: B
0
VxH=J + 9D
ot
, , P=¢gyE D =¢E D =¢E
In linear media: Ohm’s Law: J=0E
M=y H B = uH B =/H
Electrostatic Potential: E=-VV Vector potential: B=VxA
0A
Electrodynamic Potential: E=-VV - _87

Gradient Theorem:

Divergence Theorem:

Stokes’s Theorem:

Electric energy density:

(Vf)edl = f ()~ f(a)

Sy R Sy

(VeA)dV = _A«ds

v

=]

(VxA)dS = Asdl

:-1~E~D or
2

S

W, ~Lep
2

€

Final

(in linear media)

Magnetic energy density:

Power dissipation density (Joule/Ohmic) =

Poynting Theorem: Ve(ExH)= =13
Poynting Vector: S=ExH
Time averaged Poynting vector: S, = «i—
Capacitance: C= %
Inductance: L= A =N @

1 1

Vector identities
VxVxA=V(V.A)-V’A
V+(VxA)=0

Vx(Vf)=0

VeV =vif
Vo(AxB)=Bs(VxA)-A+«(VXB)
A«(BxC)=Bs(CxA)=Cs(AXB)
AX(BXxC)=B(A+C)-C(A-B)
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W, = —;—B-H or W = —;- MH?  (in linear media)

or oE?  (in Ohm’s law media)

E? +-;—IL£HZJ—E'J

Re{Exf{*}



